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IV Semester 3 Yrs. LL.B/VIll Semester 5 Yrs. B.A.LL.B./B.B.A.LL.B.
Examination, December 2017
Opt. - Il : BANKING LAW

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q. No.9 andany five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining question carry
16 marks each.

3. Answers should be written either in English or Kannada
completely.

Explain the functions of Reserve Bank of India. Marks :
OTSCOD DR E 3,08 a:qsrw.:g WO,

Discuss the ways by which a banker can make profitable uses of
funds with him. Marks :

%39, 08T 3’_:); WO QA0ON T RHOTY, RYmdTFIA

TodReNtey aohs moﬁ#ﬁi RIFR0.

What is Endorsement ? Explain the different types of Endorsement. Marks :
o0OT 20TdeR? DO Bedod &oudsmfa{a WOR),

Explain the general relationship between the banker with his
customer.

MBS WASNST 10,0803 MmN, ROWOTRIY DTOR.
- ) b) =

What precautions should a banker take in opening a new
account ? Marks :

233,080 Bex :333&:3:53‘ Sdctomon eRRoRSens mgzgdosﬁe:aa
23320, :

Explain the bankers duty to honour the customers cheques, Marks :
235‘&1 :m:g R 23,0803 sarag::g QWOXD.

Examine the grounds under which the banking ombudsman may
reject the complaint. Marks :

m&;ﬁﬁﬁa{g‘ Wy 080n muaj?m‘ OIS ey seed SoRoR RS0t
wj\ wasngo.
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Q. No. 8. Write short note on any two of the following : Marks : 2x8=16
B4 BNSYnYY oY QOB B0 PO EITES WSO :
a) Cheque.
)-8

b) Commercial banks.
e ma.oﬁmsfo.

c) Priority sector advances.
STEID [OOL TOWIE.

Solve any two of the following problems : Marks : 2x10=20
B NS COINJYTRTOR ATAE ﬁd};‘%ﬁ#gﬁg‘ TOTOR.

a) ‘A’ signs an instrument as follows :
| promise to pay ‘S’ or order Rs. 50,000.

Is it a valid promissory note ?
‘e QoS B FINToF DD TIYY Ko TS,

oD ‘™A e e SHedn dre. 50,000 RS SREEd
B3 SRS B NLwFSe ?

b) S, O and N are partners in the SON firm. They informed the
banker that ‘S’ and ‘O’ will operate the firms current account. Can
banker honour the cheques of the firm signed by ‘S’ and ‘N’ ?

DR, W DY) AT GEd A Q0w THLOTR0T KXo,
TRLOTTTINGRT. S[R3, IIE QY sTINTY ‘7"
TR ‘U S ERITITOD 23,0800 SPATITT, 13,0803 LT
LRERORD ‘DT Y ‘DT B InAE W TRERwBEe ?
¢) Acustomer of a Corporation Bank opproaches another branch
of the same bank for loan facility against fixed deposit receipt

of Rs. 5,00,000/- issued in his favour. Whether his request
for loan can be considered ? Decide.

TOTPF COETT” R0 Lom ToLOR TR BTt 10,083
QBRET LR BeeN AT TeSrd TIT SRTE Boed
SR 5,00,000 o 30@0E038 SRR RueeE DR
3,080 88 TMIIcH), Bert ToNesxeIes>? AFFOA.




